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The sample space S is the number of possible hands so

Is E There are 13 cads of each suit so

there are z ways to choose 2 spades
Sailor

reasoning gives let 3 3 I 3 Therefore
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There are 100 ways to re order the packets so 121 too

In the loth to be a header the first 9 must be data

There are 96 ways to
choose the first packet 95 to

choose the second down to 88 for theninth For the tenth

packet we have 4 options We then have 90 ways

to choose the last 90 packets This gives

E 96 95 88 4 90
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a In this case X Ber t since there are two balls in the

urn Similarly since we put the first ball
back in Xe Ber Il

so they are identically
distributed Are they independent We need

to check that

PIX x Xz x P X x P Xz x

This is easytoverifyby noting
that all four outcomes

00 o lo it are equally likely

b I this case we have to be
careful not to confuse

the marginal probability plea with the conditional

probability PCX.ly Clearly PIX X fr whichever

ball was not drawn first ad hence X ad Xz are not

independent However

P Xz 1 PIX I X 0 PIX o

PIX I D PIX

I E

Thus X and I are both Ber t i.e X ad Xe
are identically distributed but not independent






